Multiplication Strategies Reference
Properties

· Identity Property- a number does not change when that number is multiplied by 1



Examples-    1 x 5 = 5

345 x 1 = 345

· Zero Property- zero times any number is equal to zero



Examples-    2 × 0 = 0

0 × 12 = 0

· Commutative- changing the order of the factors does not change the result of the product

(A real life example is putting on one’s socks.  The order doesn’t matter; the final result is the same) 


Examples-    4 x 3 = 3 x 4

 5 x 45 = 45 x 5

Nines 

      Using tens  

2x9 = (2 x 10) – 2        both expressions equal 18
3x9 = (3 x 10) – 3         both expressions equal 27
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4x9 = (4 x 10) – 4         both expressions equal 36
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      Hand Strategy
-To solve 9 x 7, bend your 7th finger down. 

-There are 6 fingers to the left of the bent finger,

and 3 fingers to the right of the bent finger.  

-The 6 fingers to the left represent the tens place and the fingers to the right represent the ones place.    
-The solution would be 6 tens and 3 ones, 63.  

 Nifty Nines

The tens digit of the product is always one less than the “other” ‘factor (the one other than 9)

The sum of the two digits in the product is always 9.  Using these ideas together to get any nine fact quickly.  For example, 6 x 9, 1 less than 6 is 5, 5 and 4 make 9, so the product is 54.  

Hundreds Chart
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-The multiples of nine on a hundreds chart make a pattern that make the multiplication fact easy to figure out.  
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Skip Counting- For the multiplication problem, 5 x 8, count by the factor of 5 eight times to get the product:  5, 10, 15, 20, 25, 30, 35, 40          
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The hundreds chart is a visual to express the multiplication problem as well.  

                                 2 x 7 = 14

Squares-   A number measured in two dimensions, length and width.  Multiplying a number times itself.  Naturally square numbers form a perfect square when built with tiles.  
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Examples- 7 x 7 = 49  

3 x 3 = 9

8 x 8 = 64

Split the Array 
An array is a systematic arrangement of objects, usually in rows and columns.  While using the Spilt the Array strategy, students break an array into manageable parts and use addition to combine the parts.  The student splits the array that makes sense to him.  
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The array to the left represents 6 x 8.  








The same array has been split into the parts 3 x 8 and 3 x 8.  24 + 24 = 48





The same array can be split into the parts 6 x 6 and 2 x 6.  The array represents  6 x 6 and 6 x 2. 


 36 + 12 = 48
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